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(5x2=10)

(3x6=18)

(CBCS) (F+R) (2016 - 17 and Onwards)
GOMMERCE

Paper - 5.2: lnternational Financial Reporting Standards

Max. Marks : 70

lnstruction : Answers should be completely written either in Kannada
or English.

Time : 3 Hours

SECTION _ A

Answer any five of the sub-questions. Each sub-question carries
two marks.

1. a) What is IFRS ?

b) Give two examples to investment property.

c) What is holding company or parent company ?

d) What is the meaning of borrowing cost ?

e) What is current asset ?

f) What is the meaning of key management personnel ?

g) What is earning per share ?

SECTION _ B

Answer any three questions. Each question carries six marks.

2. List any six IFRS issued by IASB.

3. Mention the list of close members of theifamily as per lnd. AS 24.

4. Teja traders purchased a plant from Fl Ltd. 30-9-2015 with a quoted price of
Rs. 200 lakhs. R Ltd. offered a,trade discount of 1.5% and GST payable is 12/o

on the quoted price. Teja traders incurred 2% on transportation cost and 3% on
erection cost of the quotecl price. Pre-operative cost amounted to Rs. 2 lakhs,
Estimated life of the plant is 8 years. Residual value of the plant Rs. 20 lakhs.

i) Calculate the original cost of the plant.

ii) Calculate depreciation for first year (SLM).
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5. Tarun Co. has a machine that originally cost Rs. 35,00,000 with accumulated
depreciation of Rs.5,00,000. The marketvalue of the machine is Rs.30,00,000,
the cost of dismantling is Rs. 1,00,000, and the direct selling costs are

Rs.2,00,000. The value in use as determined by management is Rs.27,50,000.
The remaining estimated life of the machine is 5 years and estimated residual

value at the end of this life is Rs. 2,50,000.

i) Calculate impairment loss for the machine.

ii) Calculate the depreciation charge on the machine after the impairment

loss has been recognised.

6. Prepare a statement of Profit and Loss Account of Sachidanand Company

Limited as on 31.tMarch 2021 as per lnd. AS using Schedule lll of the

Companies Act, 2013.

Particulars
Purchases

Stock of goods on 1-4-2020

Stock of goods on 31 -3-2021

Sales

Depreciation on fixed assets

Preliminary expenses written off

Salaries to the emPloyees

Rent of showroom

lnterest on loan

Discount received from suPPliers

Office expenses

Printing and,stationeries

Carriage outwards '

Advertisement

lncome tax: 40"/" on Profit.

SECTION - C

Answer any three questions. Each Question carries fourteen marks. (3x14=42

7. a) What are the challenges in implementation of IFRS in lndia ?

b) What is interim financial report ? Briefly explain the form and contents

interim financial rePorting.

-2-
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8. a) Briefly explain the recognition and measurement criteria for provisions as

per lnd. AS 37.

b) What do you mean by research and development expenditure ? Explain

how research and development expenditure is treated as per lnd. AS 38.

9. a) ABC entered into a lease contract on 1 January 2017 tor 5 years, annual

rental payments are Rs. 1,00,000 in arrears (that is, 31 December each

yeafl and at the end of the lease term, the machine will be returned back

to the lessor. The economic life of a machine is 10 years. Use the discount

rale 3/". The present value of lease liability is Rs. 4,57,971. Find out the

lease liability for five years.

b) Following are the information extracted from the books of Pearson Ltd. for

the year ended 31't March 2021

Particulars Amount (t)

Net profit after tax 54,00,000

Exchange differences on translation of Foreign operations 5,90,000

Revaluation gain on land and building 2,03,000

Net loss on cAsh flow hedges 7,57,000

Net loss on Debt Securities measured at FVOCI 1 ,15,000

Remeasurement gain on defined benefit plan 8,08;0OO

Net gain on hedge of a net investment 4,67,000

Prepare a statement of other comprehensive income for the year ended

31't March 2021.
,tl

10. a) Calculate the borrowing cost in the case of Peter Ltd.

i) Rs. 30 crores arranged by 12% p.a. Debentures payable after 10 years,

Rs. 10 crores by 12 years, loan from SBI and Rs. 10 crores form lndian

Bank. The SBI interest rate 14e/o g.a.and lndian Bank interest rate is

16% p.a.

ii) Debentures repayable allO% premium.

iii) The cost of issue of debentures is Rs. 22lakhs.

iv) The service charges for SBI loan 8%.

-3-
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b) From the following Trial Balance of MN Co. Ltd., as at 31-3-2021, prepare
Statement of financial position as per lnd. AS using format given in Schedule ll!
Companies Act of 2013.
Debit

-4-

Plant, Property, Equipment 8,00,000 Share Capital 5,00,000
lntangible assets 3,00,000 Capital redemption
Current investments 1,00,000 reserve 50,000
Other non-current assets 2,00,000 Non-current liabilities 8,00,000
lnventories 90,000 Profit and Loss Account 40,000
Cash and cash equivalents 4,00,000 Current liabilities 6,00,000
Trade receivables 1,00,000
Total 19,90,000 19,90,000

11. a) H Ltd. acquired 60% of the shares of S Ltd. on 01 -7-2020. The following
information available as on 31 -3-2021 in respect of S Ltd.

a) Share capital 1,00,000 shares of Rs. 10 each.

b) General Reserve (on 1-4-2020\ Rs. 80,000

c) Profit and Loss A/c (on 1-4-2020) Rs. 60,000

d) Profit during the year 31-03-2021 Rs. 1 ,00,000.
Calculate thq non-controlling interest.

b) The statement of financial position of K Ltd. and M Ltd. as on 31-03-2021.

Liabilities K Ltd. (Rs.) M Ltd. (Rs.)

Rs. Credit Rs.

4,00,000 1,00,000

1,00,000 40,000

60,000 15,000

2,40,000 2,00,000

40,000 20,000

9,40,000 3,75,000

3,90,000 1,40,000

1,60,000

2,40,000 1,60,000

50,000 75,000

8,40,000 3,75,000

Share Capital : Shares of 100 each

Reserves as on 1-4-2020

Profit and Loss A/c as on 1-4-2020

Profit for the year 
;

Accounts peyable

Total
Assets :

Sundry Assets

lnvestment: Shares in M Ltd. 800 shares

Accounts Receivable

Other current assets
Total
K Ltd. acquired shares in M Ltd. on 1-04-2020. Calculate goodwill or capital
reserve.
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i) cJ:o$d dmer d{
ii) d:ade-: ddrd idde eJro*z,od (SLM).

5. dd:ra. doe. z,o& o$odrdQ doood:".add droe.: dei do. 35,00,000, iotid idde
dro. 5, 00, 000. o$ o$a 

-*n 
O3*qam eriao. 30, 00, ooo, Ed3aa*d dqd" 

1, 
oo, o9o,

*Q ded dnoauid{ d". f,OO,ObO. &drdd odrox,dod udd6oo-&d 
{1oop

dk.*27 ,5O,OOO. o3:o$dtru*d erccrarc deeodQo1> 5 ddrrlqb d:* €r XeaendQoJr

drodo$O- eoo?ao eru9d dfaelrdl dro. 2,50,000 ernd.

oindde adr erud-dd/e,l w$0x,. $e wd-$d4ffi odd> eoddddl dooa&$d. (5x2=10)

1. a) IFRS aodde& ?

b) drocd erari add: en:oadddrlddl Oea.

c) dro eo.crf dodD erdan dBedd dodp.rodded: ?

d) edde.:: dqd efrrde$ ?

e) d&d s:, codded: ?

0 ddr$ &drdraa tu%oo codd a$ ?

g) de deod d.:eed ded aodde& ?

aqnrl- zr

oJndoaddra dlJa& ddleri *8or. Bs dqc" ed> erodrlddl dooa&Ed. (3x6=18)

2. IASB Decd olndde er& IFRS erdl duld>a.

3. lnd. AS 24 d d*,d d,:o,rroud edo nd4d drdo$dl we3-esDtu.

4.30-9-2015
ooo$dd1

u3.edcn . R Ltd. &od do. 200 ed dozss.,d ziejCooori-)'---nt' ql

R Ltd. 1.5"/o ddD ara^md oo$Dougob$ OeE$.--eJ --d 
"t

12% GST eruejesDld
eJd{

&eej mdgideanA. dezo @.e"oiidJ eruer-esD:rd deJo$
do.

2% ddD EDori dzJ $$ 3% ddD ildnrea dd qjoioed. oo:nrdd#o$ dBdr dal..eJ6--5-,-.---eJ.--:.-.---'J-"-'_'-j--^-.._'-

drD. 2 i**. Oog# erounrc XeJA ddrrlgb. o$o$d erued dfre.:, do. 20 e.rd*.

doCbac:o:

i) ooo$d* d:ure,r d{dq eJ{4a8.

ii) &ui6do$ d{dJ1 rd*eid dodd od:o$d abeod idde S?dq eid*oat.
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6. doderldDmd 2O13dd4rf ilt edlz^Sxrdood: tnd. AS $aad31 dnzyr 2021 dod
&etudalDR&d nalcndod dod&os e>zJ dr* d{d aodot:d1dohor.
addd$b

$oeOdst>

1-4-2020 docJ: id$rld crDe$
31-3-2021 do& id*dd aanad:

dno-oo,:

&d er,rrdd d:eod idde
udoepd dqldq {, CIq.b"

wdtarenrleri ioud
doededr zmarl

sosd d:eOd ue
a

{pdrdcadood ddd oolrrobg

dzieo d{d$
drdr ab* {eddodd:
J^J 

-J-s)OaJdQ 
^JdfltO

eobemd:

soooJ: dorl: 40% eDu,Jd abed.

dJo.

6,00,000

90,000

90,000

10,00,000.

1o,oo0

9,000

19,000

12,000

10,000

5,000

2,000

3,000

1,000

1,000

Sz&d- r)

cJndeloddo dr./o$ ddJerl w$o,1. dg dd*cl daoau:* erodrlddl
dooD&$d. r! (3x14=42)

7. a) qrDdddO_tFRS erd:aa.ddO-t ianq:dsb dad)d ?

b) ar:4odd deouat's dda .rodde$ ? u$drodd dearaxb ddaor: {dod *e
edo$riddl ior$alan adoxr.

8. a) lnd. AS 37 d $rad ".b€ie))" rb$.BiD.)d rir* erdd dDdd dnddod,ldq
ioEdasaA adori.q'tD

b) iodoedd d:$ ery{,%dqd erSrdedr ? tnd. AS sB d $aad iodoefrd d>d;
erpd% dqdq deri dorteddenrb$d aoarddl ado&.
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dto.

54,00,000
5,90,000
2,03,000
7,57,000
1,15,000
9,08,000
4,67,000

9. a) ABC 1 Bddo 2017 dod:5 ddrridddrl rbgri 
"{od{ 

qidesxrd, an&rd uoBrl

aaCgrisb dra. 1,00,000 rnS (eodd,Eg ddr Eioucf 31) ubt rtgri eldqoC

Aedc$O"d oOo$dd1 rbericmdprl &o3d:Adend:$d, ol:o$d uQrd xedddl

10 ddrrlslc. 3% oo:Dor:e ddddl udl ,t 9ri dodroodol, d&d dPe.r,

de. 4,57,971. ecd> ddrrld ,frgri do#roodo$dl dod:aoaor;o.

b) 31 de d>zrr 2021d* dodrfood ddrd*.lo3lirnie Otudcsod d{drleoa
draddrlo$end dnbeojD €r ddndoed.
er J -l-)".1-c^JcJ9I l\ ,1

dorio$ dodd o{d entf
ades rooJnrziddrld tpmoddd0- o&abc) draori

rioar ab* dgdd d:eOd d:&dPe-:rd>dd e>qJ

drl6b doad d"Sd d>eeJ 0*d d{
FVOClde- erdoioEd:cae"r qJ$ddd C+d d{
aarsg&d qio3oea;n oSoexdoJ:O- d)dJdDdd enqJ

e{d doado$ dq abee3 o{d e>tf

tosrUoa ddrd eaO l*4 ercDc)d deedo$d1 doJnorr.

10. a) &errd Otuu3c"d adds: d4Fq eJ{ooat.

i) dra. 30 droet"l, 10 ddrrld Jodd o-deizJeaod 12Y" p.a. nae;Srt$, do. 10 doen3

SBI pod 12 ddrrld ;oe.: tb* d". 10 doet^3.aoGo$6f zq,of nae-:. SBI ug
dd14Y" p.h. dbt .aoao$o" m,o6' uQdd 160/" p.a.

i i) 1 O% getuo$odO- ab&aad8iud;oad ;oe,rd$rldc.

iii) raeld$dd add#ol, dqdrD. 22 e;{dtb

iv) SBI o"t* deaa $e-r*rldiAZ.

b) MN Co. Ltd. d ddnd mddo.pr:od, 31 -9-2021 dod lnd. AS $rad Fr:*{
&ec:r deedo$d1 doUorr. (J*rr, lll dodOrld roor:d 2013 &edend d*rod
z^ld,t ). !,Debit ''' dJo. Credit dro'

s:,. mdd abd: de;dd# 8,00,000 de& uodaad 5,00,000
_g' O J

eld:roJr {*,{*1, 3,00,000 uodarod adoea3d

digd Aoadrtst 1,0o,Ooo &:eio 50,000

rdo z:ogo:r%d {*,ls 2,oo,oo0 d&dd%d do#roodrisb 8,00,000

oa4$dd.: 9O,OO0 sDqJ ab* d{d and 40,000

drlct 4,00,000 d&d do#rnodrlsb 6,00,000

auoraadd drnd: 1,00,000

r-q 19,90,000 19,90,000
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1 1 . a) 01-7-2020 docb, S Ltd. d 60% dr&rtddlH Ltd. saoQeddardooas. 31-0-2021 dod,

S Ltd. ri iouoQtud €r ddnd drDbg e;drad.

a) de& uodaad 1 ,00,000 de$ddr de> do. 10 d.a deori.

b) sadnd, a:edq: (1-4-2020 docb) dro. BO,0OO

c) enzJ ab* d{ aod (1-4-2020 doub) dlo. 60,000

d) 1-4-2020&od 31-03-2021 d ddrd err?oj dra. 1 ,0O,OOO.

CIoJro$ead%d dd-q dro*zod dna.

b) 31 -03-2121dod K Ltd. ab$ M Ltd. d sQrd aeoj, deed.

dadrnofrl$
de& uodaad: den 100 dedcrlsb

1 - 4 -2020d0d sadnd, a:eie.r>

1-4-2020d0d e>qJ d:Q d{ and

2020-21de saori enqJ

aadgizieuod andrlsb

?-t3)
eJ

dptr$:
ead {*dst, i

doad: M Ltd. dO;i de$rl$b 800 de$rld,:

ledoiud:end andrigb

K Ltd. (dJo.)

4,00,000

1,00,000

60,000

2,40,000

40,000

9,40,000

3,90,000

1,60,000

2,40,000

50,000

8,40,000

M Ltd. (d.Jo.)

1,00,000

40,000

15,000

2,00,000

20,000

3,75,000

1,40,000

1,60,000

75,000

3,75,000

udd $rgd **,t*t,
?.t3)

gJ

K Ltd. 1-04-2}20docb M Ltd.d ded:ddd1 sooeeddaxrdooa$. iooad>d dod
erda-o uodoad'Ateiel eJua*zlod dna.


